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The dipole moments ose all of
the same size (all bonds ave the
same) and dhey are osranged
83mmei1icall3 around the molecule,
since it iS symmetical and hence

|

e
a VI e

o

Ik is polar because it has a

. Even \'houg)\
all of the dipole moments are of
the same size ﬂnes ate not amused
s%rm\ekicallg and hene they do

they cance] €ach ether our . not concel eoach othev out.
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By molecule is symmedtical
| (an angles of {20‘)
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W y \ presence of lone pair breads the symmettical shage of molecule
I, bonds atfanged symmedrically acronged the molecule
/.O\ presence of lone pair breads the symmettical shage of molecule
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moleule 15 symmettical presene of hydiogen brearls

ond all digole moments the symmeirical - arrangmend, S0

ate  the same digole moments don't awmal
ch  other out



